SECONDARY SCHOOL EXAMINATION - 2023

Areafie Thol TNET — 2023

(ANNUAL/a1i¥)
fawa ais — 112 SCIENCE (Compulsory)
Sub. Code - 112 fasm (aifrar)

$d YTl DI G&T — 80+24+6=110

Total No. of Questions - 80+24+6=110

9g - 2 9 45 e qurid : 80
Time : 2 Hrs. 45 Minutes Full Marks : 80
yRenfefal & ford e —

Instructions for the candidates -

1.

wiendi OMR STR=UFE W AYAT YRADT HHIS (10 Abl B1) ALY
fored |

Candidate must enter his/her  Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

oRleTTef ALY ST Teal H B IR G |

Candidates are required to give answers in their own words as far
as practicable.

qIfe AR BIRR R A 8 3 yuries ffase &vd.2 |

Figures in the right hand margin indicate full marks:

gel Pl eFYdd UgH @ foly wRiemil a1 15 e &1 srfaRed |wd
&= T 2 |

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.
U U UA T WSl H B, WU U9 WUe—9 |
This question booklet is divided into two sections - Section-A and

Section-B.
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Yue—3 H 80 IS UL B | S99 ¥ fbsl 40 Ul P IR <A1 2 |
g% Y3 @ oy 1 i MeiRd g1 afe ®1s ademefi 40 A siferd g
HT IR <A 2 AT UAH 40 YAl & SR BT & Aid BRI | §AdBT SR
U R MU OMR SWR-9Y3¢ 4 Ry W 98 Jeey & gd &l
/@l dfd U9 F WX B W UER B glseTR /R

geref /=S /RGA 3nfe &1 OMR STR-U5I6 # WANT &xAT AT &,
JYSIT TR UROTH =T BT |

In Section-A, there are 80 objective type questions, out of which
any 40 questions are to be answered. Each question carries 1
mark. If a candidate answers more than 40 questions, then
answers of first 40 questions will be evaluated only. For answering
these, darken the circle with blue/black ball pen against the correct
option on OMR Answer Sheet provided to you. Do not use
Whitener/liquid/blade/nail etc. on OMR Answer Sheet, otherwise

the result will be treated invalid.

EUS—q ¥ 24 oY STRIY U & | 379 8 U Al AR, 8 U A1

IARF & U9 8 Ued oilg [AgM & 2| U vy (Wifde oes, 9=

IS Td Sfig fagm) ¥ IR—aR Y%Al &1 SR 1 8| ISP & forg 2
i fFuiRa 21 s97& fiRaa s @rve # 6 <1 ST ued 3y 79 &

78 9 2 g A I &, 2 U YER”A AR & Ud 2 U o9

fasm & g1 9fde I"T & ude Y ST U & v 6 3fh, YR
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IR U9 oig s & forw 55 ofe fiRa 81 e fawg (Hifas
I, I A T4 Siig fAg™) 3 Ueh—Ud Ued & IR AT J+ard
=

In Section-B, there are 24 short answer type questions. Out of
these, eight questions are from Physics, eight questions are from
Chemistry and eight are from Biology. Four questions are to be
answered from each subject (Physics, Chemistry and Biology).
Each question carries 2 marks. Apart from these, there are 6 Long
Answer type questions, two questions each from Physics,
Chemistry'and Biology. Long Answer Type questions from Physics
carries 6 marks.each, and from Chemistry and Biology carries 5
marks each. Answer of one question each from Physics,
Chemistry and Biology is compulsory.

8. Pl PR & Selaeid ITHIOT &I FANT Yoiadr afsid ¢ |

Use of any electronic appliances is strictly prohibited.

Yus—31 / Section A

axdf~ss 939 / Objective Type Question

U AT 1 W 80 Tb ARIS U g1 TH W fbwel 40 Ul Bl SR o1 B
IS U & A1 AR fdden Ry U & 99 9 U |81 | U §RT g Y Hal
fd®wea @ OMR e wR fafed & | 40 X 1 = 40

Questions Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four options, out of which only one is correct. You have to mark

your selected option on the OMR sheet. 40 x 1 =40
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fifhd # fohaeT suad-ia @1fe® & 2

(A) Bar (B) g1

(C) wirem (D) et

Which of the following has maximum refractive index ?
(A) Air (B) Diamond

(C) Glass (D) Water

3fadet GUY @1 BIhA—g3 BT § —

(A) FUTHS (SERISED

(C) T (D) &1 FUMHD, B4l I-THD
The focal length of a cancave mirror is —

(A) Negative

(B) Positive

(C) Zero

(D) Sometimes negative, sometimes positive

fel) of % &9 wIed &1 w1 fdha sl 2 2
(A)1 (B) 2

(C)3 (D) 4

What is the number of principal focus in a lens ?
(A) 1 (B) 2

(C)3 (D) 4

QTSI G H BIF—HT TUUT YUY BT & ?
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(A) STe (B) sraqet

(C) et (D) 7% & ®Ig Tl
Which mirror is suitable for shaving ?

(A) Convex (B) Concave

(C) plane (D) None of these

AT TUT B BIbd g3l (F) vd 9@ ashdl Boam (R) & 99 R § —
(A)F =R (B) F=2R

(C) F== (D) F = 4R

The relation between focal length (F) and radius of curvature (R) of a
concave mirror is -

(A)F=R (B)F=2R

(C) F== (D) F = 4R

fr=forRad # {59 o & AFERI o9 ded & ?

INEESSRSE] (B) ST <

(C) ST <1 TG adel o &l (D) SIShidd o
Which of the following lens is called converging lens ?
(A) Concave lens

(B) Convex lens

(C) both convex lens and concave lens

(D) Bifocal lens

39 garer # e aul &1 a¥Teed REaH ghar § 2
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10.

(A) dren (B) &r+h

(C) ofref (D) &1

Which colour has minimum wavelength in visible light ?
(A) Yellow (B) Violet

(C) Red (D) Green

IRl &1 feAfCHM, Udbrer & | g1 ®I qelar g ?

(A) UHTRN T faerooT (B) UHTIeT BT URTICH

(C) wpT=T T FepToT (D) TSI BT g

The twinkling of stars represents which phenomenon of light ?
(A) deflection of light (B) reflection of light

(C) scattering of light (D) refraction of light

ffaRad & feed yerer @) =ora w99 e 8t 2 2

(A) arg (B) @fa #

(C) frafa (D) (A) 3% (B) 2t ¥
In which of the following, the speed of light is maximum ?
(A) in air (B) in glass

(C) in vacuum (D) both (A) and (B)

b1 P 3qaa P foa- fFm & ?

(A) 1 (B) 2
(©)3 (D) 4

How many laws of refraction of light are there ?

6
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11.

12.

13.

(A) 1 (B) 2

(C)s (D) 4

St faea §97 5 ol @1 fAd $oi # wuidRa wxar § 2
(A) @ St (B) ¥R Suif
(C) Rerferst gt (D) ardry it

Which energy is converted by a hydroelectric plant into electrical

energy ?
(A) Nuclear energy (B) Solar energy
(C) potential energy (D) Thermal energy

ST g3 AMeRN gaeidl 80—

(A) fIgd STl DI YHIT Holl H (B) I ol Dl YHIRT Holl A
(C) &af~ St BT YT Sroll & (D) 37 ®I1g el

The burning Candle changes -

(A) electrical energy into light energy.

(B) chemical energy into light energy.

(C) sound energy into light energy

(D) none of these

U fIgd A 9 gR—UTG &R1 R g9b (R & 4919 fa9aiar &1 /9 faggd

qED qel DI JorT | BT Ol & —
(A) 3Tl (B) ®H
(C) g (D) §7# PTE e

7
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14.

15.

16.

The potential difference across an electric cell upon drawing current

becomes -
(A) more than emf (B) less than emf
(C) double the emf (D) none of these

ORI &1 719 9e™ & oI UfeRIEdT &l SireT ST a1fey —

(A) FAITR HH H (B) =rofiene #

(C) (A) s (B) # (D) 377% & @IS &

To increase the value of the resistance, resistors should be connected-
(A) in parallel (B) in series

(C) in both (A) and (B) (D) None of these

faed g e & forg U 579 B &1 TN 8T 8, 98 & —

(A) difar (B) ¥ el

(C) gurd (D) g4 ®Ig &l

The rod, which is generally used to make electromagnet is -
(A) Copper (B) Soft iron

(C) Steel (D) none of these

IR AU R - Ulhar g1 &I Il 5 2

(A) TR fawde (B) -f¥ehIa WHerr
(C) < (A) Td (B) (D) &7 & BIg el
Which process is done at higher temperature ?

(A) nuclear fission (B) nuclear fussion

8
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(C) both (A) and (B) (D) none of these
17. AR ol & g fdggd d gga arell gfad & —
(A) R B (B) ©R ¥
(C) =T (A) 3Tk (B) (D) 379 & @15 el
A device that converts solar energy directly into electricity is -
(A) Solar cooker (B) Solar cell
(C) Both (A) and (B) (D) none of these
18. Yo faggd ol H 9ad @ aTd HHA—A—DHH -l g ey ?
(A) 150 km/h (B) 1.5 km/h
(C) 12-14 km/h (D) g & PIg 21
What should be the minimum speed of wind in a wind electric
generator ?
(A) 150 km/h (B) 1.5 km/h
(C) 12-14 km/h (D) None of these
19. 9o &1 fIgd—ars®d 9o © —

(A) ¥l §RT SHTS 3MAY WX T AT 9l

(B) ¥l RT S&18 3MAY WR fhar a1 &R
(C) foatar

(D) 57 & P1g T

Electromotive force of a cell is -

(A) the force exerted by the cell on unit charge

9
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20.

21.

22.

(B) the work done by the cell on unit charge

(C) potential difference

(D) none of these

Rl URYeT § 450 w9 9§ fhas! myfed 8l § 7

(A) et e T (B) = e ar @
(C) fose a=r & (D) 378 | BIg 2

Which eurrent is mainly used in domestic circuit ?

(A) alternating.current (B) variable direct current
(C) direct current (D) none of these
qui—f3grgor oriva & —

(A) a3 (B) frafer #

(C) Ster (D) wrgeR H

Dispersion is impossible in -

(A) glass (B) vacuum

(C) water (D) fibre

g ¥ @1 U B4 &1 oA smufad faRer a1 Aie <ar 2=
(A) SR (B) ==t

(C) 3R & R (D) 3R & 3R

A glass prism placed in air bends an incident ray -

(A) upward (B) downwards

(C) away from the base (D) towards the base

10
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23.

24.

25.

26.

2Zn + O, > 2Zn0 &9 YbR &1 AfWfhar g ?

(A) sraere (B) faermu=

(C) raerqur (D) Su=I_

2Zn + O, > 2Zn0 is which type of reaction ?

(A) Decomposition (B) Displacement

(C) Precipitation (D) Oxidation

G Tl WIS &1 IS G T & 2

(A) NaHCO3 (B) NH,CI

(C) Na,COs (D) s & ®1g &
What is the chemical formula of baking soda ?

(A) NaHCO; (B) NH4CI

(C) Na,CO, (D) none of these
FE B AU W F9 AT H Ie-Iarell &1 & —

(A) difar (B) U

(C) wrfeaw (D) @raT

The metal which remains in liquid state at room temperature is -
(A) copper (B) mercury

(C) sodium (D) iron

3 ARV & YT HHE Pl Ocd DI © 7
(A)H (B) He

(C)O (D)CI

1
T
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27.

28.

29.

The element of zero group of Periodic Table is -

(A)H (B) He

(C)O (D)CI

AIISTH BIEFC & STl f[deras | Afd 3RS &1 faeras e W fdera=
&1 T uRafid gler FeferRad | Sdr 8 Sirar 2 ?

(A) drerr (B) etret

(C) Terrdr (D) &

On adding“methyl orange solution to the aqueous solution of sodium
carbonate, the colour of the solution changes to which of the following?
(A) Yellow (B) Red

(C) Pink (D) Green

Tolget AT @ forg SoRer 9 fEfaRad § o9 @ 2

(A) NH;3 (B) CO,

(C) O2 (D) N2

Which of the following gases is responsible for global warming ?
(A) NH; (B) CO,

(C) O2 (D) N2

s 1 URATY] FEAT T § °

(A) 2 (B)4

(C)8 (D) 16

What is the atomic number of sulphur ?

12
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30.

31.

32.

(A) 2 (B) 4

(C)8 (D) 16
3 DI STelid faerae faga &1 Farel= ordl &, difd 3l 5ol H —
(B) smufaa grem & (B) 31fdera grar &
(C) faerg &ram 2 (D) =79 & @I 7}

The aqueous solution of an acid conducts electricity, because in water

acids aré)-
(A) ionized (B) insoluble

(C) soluble (D) none of these
TR egelt @ sifavTgs 8 § —

(A) & (B) et

(C) SeriF (D) 3% & ®Ig el

The oxides of metals are generally -

(A) alkaline (B) acidic

(C) neutral (D) none of these

A ffeRad # SIF—AT o1q feimer fserg TR & Sk § 2
(A) Cu (B) Zn

(C)K (D) Fe

Which of the following metals is mixed with gold to form an alloy ?
(A) Cu (B) Zn

(C)K (D) Fe

13
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33.

34.

35.

36.

NaCl + AgNO; > AgCH + NaNO; fr=ifalRaa # fre uaR @1 eifafshar 22
(A) faxermos (B) 1o
(C) fefazermu (D) fariom

NaCl + AgNO; > AgCH + NaNO; is which of the following types of

reaction ?

(A) Displacement (B) Combination
(C) Double.displacement (D) Dissociation
et © —

(A) T oIy (B) U &g

(C) & Suerg (D) 379 & @I T
Silicon is a -

(A) nonmetal (B) metal

(C) metalloid (D) none of these

J @ e 9 9 qui W B €, S 8 —
(A) HhHTT T (B) g<ror=d
(C) & T =1y (D) S

Elements whose outer shell is completely filled are known as —

(A) transition elements (B) Halogens
faere S av sie gera siffaas
(C) alkaline earth metals (D) Noble gases  a@@we due, sifses 9, siize-l,
TS, diled, Al cee, de-37 3ile
@R w1 It G § - Aferae udten usst u4 anfa & f3e...
BiharboardQuestionpaper.com
(A) Ca(HCO3), (B) CaOCI ;f -,;J

aft fafde w2 . ==
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37.

38.

39.

(C) CaCl, (D) CaCO;,
The chemical formula of chalk is —

(A) Ca(HCO3), (B) CaOClI
(C) CaCl, (D) CaCO,
f=Tifdha 5 i \a9 31fdd relly sifedrgs © ?
(A) SO (B) CaO

(C) Na,© (D) MgO
Which of thefollowing is the most acidic oxide ?
(A) SO (B) CaO

(C) Na,O (D) MgO
fereiferiRad # @i Vebrg & 2

(A) CH, (B) C2H,4

(C) CH; (D) C2He
Which of the following is an alkyne ?

(A) CH, (B) C2H,4

(C) CoH; (D) C2He
CH3-O-C,Hs @1 IUPAC M & —

(A) HITaRTT T (B) Tferet #fret geR
(C) veifes #e (D) U=
The IUPAC name of CH;-O-C5H5 is -

(A) methoxy ethane (B) ethyl methyl ether

15
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40.

41.

42.

(C) ethoxy methane (D) propanone

=1 % &1 B AT S84 & wY H SR [HAT T Gl © 2

(A) Hhfer (B) Virgen 3t

(C) Tt (D) s & W

Which of the following compounds can be used as fuel ?

(A) propanol (B) ethanoic acid

(C) ethanol (D) all of these

AQIfsyd gssiadss Nie | sifafhar axe A=Iifed ¥ d9—a1 Sdre 47l
87

(A) NaZnO, + H, (B) NayZnO, + H,
(C) NazZn,+H, (D) Na,ZnO+H,
Which of the following products are formed when sodium hydroxide
reacts with zinc ?

(A) NaZnO, + H, (B) NaxZnO, + H,
(C) NaZn,+H, (D) Na,ZnO+Hs;
NI AT & IS G T 8 2

(A) Na,C0O3.10H,0 (B) NaHCO;

(C) CaCOs; (D) Ca(OH),
What is the chemical formula of washing soda ?

(A) Na,C0O3.10H,0 (B) NaHCO3;

(C) CaCOs (D) Ca(OH).

16
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43. RSl H A HNO; 3R | HCI &7 31uTd 81d1 & —
(A)1:3 (B)3:1
(C)2:2 (D)2:3
The ratio of conc. HNO3 and conc. HCI in aqua regia is -
(A)1:3 (B)3 : 1

(C)2:2 (D)2 :3

44, ol afdfear # WIT N arel Uert @wEd § -
(A) ST (B) 31ApR®
(C) STeRiTpRSD (D) 3rabRD
The substances that takes part in a reaction are called -
(A) product (B) reactant
(C) oxidizing agent (D) reducing agent
45.  Fr=IfeIRad # @A ol sifaTss © 2
(A) CuO (B) MgO
(C) CaO (D) SO,
Which of the following is an acidic oxide ?
(A) CuO (B) MgO
(C) CaO (D) SO,
46. Tr=fIRad # @19 A1 Ucred &1 STelid "idt ol foredd ua &l Aol &R <l
g7

(A) st (B) &

17

BiharboardQuestionpaper.com



47.

48.

49.

(C) 3=t Td &R <l (D) ST ¥ IS 8l
An aqueous solution of which of the following substance turns blue
litmus into red ?

(A) acid (B) base

(C) Both acid and base (D) none of these
TR YRR BT AT pH A fohe=r € ?

(A) 5-7 (B) 2-3
(C)7.0-7.8 (D) 9.0-9.5

What is the normalpH value of a healthy body ?

(A) 5-7 (B) 2-3
(C)7.0-7.8 (D) 9.0-9.5
fFe=ifea il 5 o9 Siat 4 faag 8.7

(A) BTEA STSACHIZS (B) st

(C) o1 (D) eIt

Which of the following compounds is soluble in water ?
(A) Carbon disulphide (B) Benzene

(C) Methane (D) Glucose

o LN

freifehd # I 3 TH © ?

(A) Cu-Sn (B) Na-Hg
(C) Cu-Zn (D) Pb-Sn

Which of the following is amalgam ?

18
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50.

51.

52.

(A) Cu-Sn (B) Na-Hg

(C) Cu-Zn (D) Pb-Sn

Freifed § -1 arg e dobe @ o A i ol favenfig o
Hepell & 7

(A) Trgef A (B) wifeH

(C) PR (D) sregfafram

Which of the following metals can displace zinc from zinc sulphate
solution ?

(A) Titanium (B) Platinum

(C) Copper (D) Aluminium

SATRITSTYaT Y Dl gad W INR & (AW~ 91 A o S drell eana~rar

HEAT & —
(A) frer (B) 1Y
(C) anfeta (MEEIER

Blood vessels which carry oxygenated blood from the heart to different
body parts are called —

(A) ventricle (B) veins

(C) auricle (D) arteries

G0 @ ged Ul T & fufed ga @ ded & —

(A) forrm (B) ¥k#

(C) wefroTHT (D) s & @I Tl
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53.

54.

55.

The light yellow-coloured sticky substance in the blood is called —
(A) lymph (B) serum
(C) plasma (D) none of these

fore dielf o aferal W= EMTeT suRerd B § 7

(A) SIRTBTSCH (B) STeTH™A gISsIthlscd

(C) dfSrareaH (D) s & BIg 7T

On the leaves of which type of plants is the stomata absent ?
(A) Xerophytes (B) Submerged Hydrophytes
(C) Angiosperm (D) None of these

fhuaur fopar urg ot @7 =
(A) I< # (B) BIgST #
(C) s o (D) T ¥ BIE TE

Fermentation process is found in -

(A) Yeast (B) Hydra
(C) Amoeba (D) None of these

qul fImRId ISR HEardl & —

(A) drsT (B) wet

(C) drsrs (D) 774 3 ®¢
A fully matured ovary is called —

(A) seed (B) fruit

(C) ovule (D) none of these

20
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56.  Toldblol BT IATING G § —
(A) C12H2,0144 (B) CeH1206
(C) CH;COOH (D) CH;CHO
The chemical formula of glucose is -
(A) C12H2,044 (B) CeH1206
(C) CH;COOH (D) CH;CHO
57. fr=faRaa # fod A &1 yered saE FEd 8 2
(A) FelRTwTRE (B) wiilRes
(C) aeiRifther (D) Faterard
Which among the following is called the photosynthetic unit of plant ?
(A) Chloroplast (B) Plastid
(C) Chlorophyll (D) Quantasome
58.  SfSIET BT BRI & —

(A) estrogen (B) LH

(C) FSH (D) s & @IS A&
The cause of ovulation is -

(A) estrogen (B) LH

(C) FSH (D) none of these

59. fam=forRad Sial # fad sreifiie w4 fgxgsd gRT 78 g1 & 7
(A) T (B)ﬁ?ﬂﬁﬁl’&ﬂ
(C) dre (D) 3rrar

21
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60.

61.

62.

In which of the following organisms asexual reproduction does not

occur through binary fission ?

(A) Leishmania (B) Paramecium
(C) Yeast (D) Amoeba

Ui H SifaRAISTT BT Aol & 947 I8dl § 2

(A) FaoTd fohar grRT (B) UhTI HIAYIT gIRI
(C) 3muged g1 (D) 374 9 ®Ig =8I
How is the balance of oxygen maintained in nature ?

(A) by combinationireaction (B) by photosynthesis

(C) by decomposition (D) none of these

Ao & gt | f=ferlRad # foa 9 @ qfAer 8 g 2

(A) U < (B) 3R 34

(C) a1 (D) s+ & &1

Which of the following juices play a role in the digestion of food ?
(A) bile juice (B) pancreatie juice

(C) intestinal juice (D) all of these

fefSes e TorgH urr Srer & —

(A) forerar (B) ar=rerd <&
OEERSE (D) STeR 9 |

Trypsin enzyme is found in -

(A) gallbladder (B) pancreatic juice

22
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63.

64.

65.

66.

(C) intestinal juice (D) gastric juice

JMER AT BT AIH ofdl 91T & —

(A) Tt (B) BT aifa

(C) 3mHIEr (D) UtE el

The longest part of the alimentary canal is —

(A) pharynx (B) small intestine

(C) stomach (D) oesophagus

T ¥ UTe AT BT SRY FHEl A BT B ?

(A) T | (B) IET |

(C) s & (D) BIEY 3ifa &
Where does the process of digestion begin in humans ?
(A) pharynx (B) buccal cavity

(C) stomach (D) small intestine

ON ON (N

frforRad & i 99T & U+ § 9P aidl & 7

(A) eTgefI (B) <Irgut
(C) Arees (D) daes

Which of the following helps in digestion of fats ?

(A) ptyalin (B) lipase

(C) maltase (D) lactase
TATS IR @1 ufhar §u=1 8l 8 —

(A) D= d (B) ®Rraraer #

23
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67.

68.

69.

(C) g rofgar # (D) ¥ #

The process of glycolysis takes place in —

(A) nucleus (B) cytoplasm
(C) mitochondria (D) stomata

3 IR & —

(A) BTFTR® (B) S=a 19 WR el
(C) <Iarft (D) &7 & ®Ig el

Ozone layeris —
(A) Harmful (B) Beneficial at high temperature
(C) Benéeficial (D) None of these

ON ON (N

fFrforRad # &9 el § R Uoi= 377 & ?

(A) gbeR (B) weru

(C) g (D) 377# & @I el

Which of the following is the male reproductive organ in a flower ?
(A) Anther (B) Petal

(C) Thalamus (D) None of these

aregl # vaed fohar & srta ATP & ¢ 9 foha- Soif Haa 2l 2 2

(A) 30.5 kj/mol (B) 305 kj/mol
(C) 3.5 kj/mol (D) 374 9 ®Ig =8I

How much energy is released by the breakdown of ATP during

respiration in plants ?
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70.

71.

72.

(A) 30.5 kj/mol (B) 305 kj/mol

(C) 3.5 kj/mol (D) none of these
SUTSe Uohlgel fhd TR & o | §97aT © 2

(A) aradra (B) Sramrdry

(C) fava (D) &7 & B T

Ethyl alcohol is made from which type of respiration ?
(A) aerobic (B) anaerobic

(C) fermentation (D) None of these

I H SURT DIF-HT HOTRIT Iad- 9 & gRded & 91T ol 27

(A) ST Iad BIOTHTY (B) Tad & HIVHIY
(C) (A) Term (B) a1 (D) 37 & B =l
Which granules present in the blood take part in the transport of

respiratory gases ?

(A) Red blood cells (B) White blood cells

(C) Both (A) and (B) (D) None of these

UGy 3TARTE ST B1d 8 —

(A) afcrar & (B) Brar #

. _ fagre 'S a1v sie gera siifthfdas

(C) eIl Rigaeei (D) 9 9+ # e AUz, FAiee Uug, siee-4,
UTShd, S, Ald ¢ee, de-314 3T
W de udten uss ua snfe & f3e...

Plant wastages are stored in —

BiharboardQuestionpaper.com
(A) leaf (B) bark ; "Jk

(C) cellular vacuoles (D) all of these
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73.

74.

75.

76.

AT BT MER—ATA BT AT 9NT BT Taarsd BT Afdd &1 FRaT g ?

(A) I8 (B) T/ T
(C) srmrera (D) 57 & BTE 7

Which part of the alimentary canal of man does not secrete any

enzyme ?
(A) mouth (B) oesophagus
(C) stomach (D) none of these

T3 B Fiadl feddl IuRAT R R &=ell 2 ?

(A) emarifeT (B) ADH

(C) wHURY (D) HeATSIH

Concentration of urine depends upon the presence of whom ?
(A) Thyroxin (B) ADH

(C) Vasopressin (D) Melatonin

(A) STffaSTT (B) Riaveli=

(C) \rEcIdrEg=i (D) vaffe srv
Which hormone is not associated with growth of plant ?
(A) Auxins (B) Gibberellins

(C) Cytokinins (D) Abscisic Acid

A9 g fbg dF &1 91T 8 ?

(A) Tras (B) 3q4+T o
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77.

78.

79.

(C) S=Iui= a4 (D) uRazg a=

The human heart is a part of which system ?

(A) digestive system (B) respiratory system

(C) excretory system (D) circulatory system

Sitg fa=i @1 98 emEr S ol & SR & Seddd | Hed § —
(A) PR fagm (B) smgafret

(C) =it fasrar (D) &7 & ®Ig el

The branch of biology that deals with the study of inheritance of
character is -

(A) Cytology (B) Genetics

(C) Evolution (D) None of these

vaad fohar § ifed & 9 fow 919 @1 9897 fohar Siram & 2

(A) CO, (B) Oz

(C) N, (D) SO,

Which of the following gas is taken in during respiration ?

(A) CO, (B) O

(C) N (D) SO

TSIt # HTEA @ fhas oA Bl § ?
(A) 4 (B)6
(C)8 (D) 12

How many Carbon atoms are in glucose ?
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(A) 4 (B) 6

(C) 8 (D) 12

80. ARCSp H aFifted fhameil &1 FRIF0 ds s@Rerd 81 & —
(A) g § (B) srraRass #
(C) wemRass ¥ (D) yeamRass ¥

In the brain the control center for involuntary action is located —
(A) in medulla (B) in forebrain
(C) in midbrain (D) in hindbrain

uvs—9 (Section-B)

Hifds I (Physics)

oY 3N 939 (Short Answer Type Questions)

U W1 1 ¥ 8 Tb oY SR © | 599 | fbgl 4 Ul &1 SR § | YD U b
ford 2 s FEiRa 2 | (4x2=8)
Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each

question carries 2 marks. (4x2=8)

1, DI &3 @RI & gl a1 qoii dI ford | 2
Write down any two properties of magnetic lines of force ?

2. IRIN |95 T & 2 2
What is a biogas plant ?

3. A & g9 H DIF—IIRM eR Wl & 2 AT I | 2
Which quantity remains constant in Ohm’s law ? Explain.
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4. IRIATT J@Ivid I o s R JeR R &l & 2 2
How does scattering in air depend upon wavelength ?

5, G B ATHGT &THdT I T dread © 2 2

What do you mean by power of accommodation of the eye ?

6. f 9T & g id BT URWING BT | STPHT §hls T 8 7 2
Define refraction index of a medium. What is its unit ?
7. g dtell @ AT § rdarell FHwmet &1 foRav | 2

Write the problems faced in the construction of big dams.

8. T 3[UH 3G AT THTI &I AT BT fbd bR AT drar 8 2 2

How does the eye control the amount of light entering it ?

" ST 939 (Long Answer Type Questions)
9T Ge&7 9 3R 10 S TR 21 98 A fhd U &l SR | U U &b forw
6 3 AYURT B | 1Xx6=6

Question Nos. 9 and 10 are Long Answer Type. Answer any one of them.

Each question carries 6 marks. 1x6=06

) JIqd] GRT U9 s aRT | 3 T FHSI & ¢ S 3R WE W | 6
What do you understand by alternating current and.direct current ?

Differentiate between them.

10.  IGdd TUU & BIed & FdTe @ e Ay &1 aoie o | 6

Describe a method for determination of focal length of a concave

mirror.
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I I (Chemistry)

o S8 939 (Short Answer Type Questions)

U AT 11 9 18 T oY SIRIY & | 379 I (b8l 4 Ul BT IR < | ISP U

& fory 2 ofe AR §) (4x2=8)

Question nos. 11 to 18 are Short Answer Type. Answer any 4 questions.

Each question carries 2 marks. (4x2=8)

1. IHIYAT YGRS [ ed © ? AIKTERY ARAT N | 2
What are amphoteric substances ? Explain with examples.
12. fr=ifha aiffshareti @ fory Aqfera e xR ford | 2
(A) Sie(s) + HerRIRS sii(ag) > Rfd Febe(aq) + BTERIOTI(G)
(B) 9R¥H FARTSS(aq) + ARIND 3Fel(aq) —> dIRIH Aewe(s) +
BIESIaciRG 3l (aq)
Write balanced chemical equations for the following reactions -
(i) zinc(s) + Sulphuric acid(aq) = zinc sulphate(aq) +Hydrogen(g)
(i) Barium chloride(aq) + Sulphuric acid(aq) - Barium Sulphate(s) +

Hydrochloric acid (aq)
13. S Bl AR Hobe Ao # Se= 9 &7 8idr & 2 3ifdfhar &1

NI FHThRoT fored | 2

What happens when zinc is added to ferrous sulphate solution ?

Write chemical equation for the reaction.
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14,

15.

16.

17.

18.

HeROT 9T & ? SAIQTexvl F9e | 2
What is corrosion ? Explain with example.

INTE G F IR W T g9 ggdl § 7 2

What effects are caused on body after drinking alcohol ?
3TIHTSIRT =1 AT T WA R of forar g 2 2

Why have detergents replaced soap?
e AR & ToA-ie Td daUie Ied Bid © | 9 2 2
lonic’'compounds have high melting and boiling points. Why?

BT fagd Dl qgareisd il €, fobg Iwise Jared | Fai ? 2

Diamond is a bad conductor of electricity, but graphite is a good

conductor. Why?

" ST 939 (Long Answer Type Questions)

9T T 19 AR 20 <1 IR & 599 O Al U BT SR < | Ub U B
foru 5 3fe MERT B | 1x5=5

Question Nos. 19 and 20 are long answer type. Answer any one of them.

Each question carries 5 marks.

19.

20.

fereifere AIfTepl b1 =T 3 ford — 5
(A) STHTITYA (B)uusal  (C)gadwt (D) & (E) 99|
Write structural formula of the following compounds -

(A) Bromopropane (B) Propanal (C) Hexane

(D) Benzene (E) Propene

fAsterg f6A ®ed € ? g9d a1 IRV < | Wserg & A9 ST &
oI N | 5
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What is an alloy ? Give two examples. Discuss three uses of

alloys.

Siild fasim= (Biology)

oY 3 939 (Short Answer Type Questions)

U T 21 9§ 28 T Y SIRIY & | 379 I (b8l 4 Ul Bl IR < | AP U

& forg 2 3f fAeiRaT 2| 4x2=8

Question Nos. 21t0.28 are Short Answer Type. Answer any 4 questions.

Each question carries 2'marks. 4x2=8

21.

22.

23.

24.

25.

26.

YHTIRITATYT UfehaT FARICRE H &1 ai 8l & ? 2
Why does the process of photosynthesis take place only in

chloroplast ?

AT 3 @& dral & 9an | 2
Describe the function of the nervous system.

fcrat fopar ar 8 2 2
What is reflex action ?

DNA 3afiedr & R 2, &4 ? 2
DNA is the basis of heredity, How ?

g9 3R T84 | PIs g Ifax ford | 2

Write any two differences between respiration and combustion.

TS hIS R & 31T T o3/ & ° 2
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What do you understand by glycolysis ?

27.  f&=El IR urey A &1 74 ford | 2
Name any four plant hormones.

28.  f=ifed & gl w9 ford | 2
(i) lUCD (i) OC
Write the full form of following.
(i) IWCD (i) OC

el 39 939 (Long Answer Type Questions)
9 AT 29 IR 30 SH STNT 2| 3794 I fhdl U & SR T | UAD U B
foru 5 3 fAgiRd 21 1x5=5

Question Nos. 29 and 30 are-Long Answer Type. Answer any one of them.

Each question carries 5 marks. 1x5=5
29.  UDBRMHTAYU & YRFINT < | GHIRHTAYUT UhH BT Hey H qoi o |
Define photosynthesis. Explain the process of photosynthesis in

brief.
30.  HAIS H urad AT B U 9F & AMifad [ 6 |1l JHsiey |
Explain the process of digestion in humans with*a‘labelled diagram

of the digestive system.

faere §1€' & =1e 3ie yerat siifhsfaas
Yt Aue, HAises due, fiere-6l,

UTSaIsh A, siicd, AlTd eee, Ae-3T 3l

Afa e udlelt usst u= 3nfe & f3e...
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